
F1 - M3 Pan Head
Slotted Machine Screw

F2 - M3  Nyloc nut

F3- M5 Split Lock Washer

F5 -  M5 x 20 mm
Socket Head Cap Screw

F6 - M6 Washer

F7 - M6 Nyloc Nut

F8 - M6 x 12 mm
Socket Head Cap Screw

F9 -  M6 x 20 mm Cap Screw

F10 - M8 Washer

F11 - Nylon Washer

F12 - M8 Washer

F14 - M8 Nut

F15 - M8 x 20 mm Bolt

F16 - M8 x 30 mm Bolt

F13 - M8 Nyloc Nut

SIEMENS SOLID EDGE 1 of 2



F17 - M8 x 50 mm Bolt

F18 - M10 Washer

F19 - M10 Split Lock Washer

F20 - M10 Nyloc Nut

F21 - M10 x 20 mm Bolt

F22 - M10 x 40 mm
Socket Head Cap Screw

F23 - 5MM Roll Pin

F24 - 3.2 x 10mm Pop Rivet

F25 - 16 mm Rubber Grommet

F32 M8 x 16 mm Set Screw

F33 - M6 x 35 mm
Socket Head Cap Screw

SIEMENS SOLID EDGE 2 of 2


